xty=4, xy =39 o, x* - xy+y* °] gL TFotefef

P —xy+y=(x+y)>?-3xy=7
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x+y+z=3, xy+yz+zx=-1<4 0 x2 +y2 472 9] gr-& Fo}H?

@ @ 12 ® 13 @14 O

4y +22 = (x+y+2)7?%-2(xy+ yz+ x2)
=94+2=11
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(a+ b)? = a® + 2ab + b?
(a—b)? =a®-2ab + b?
(a+b)(a-b)=a*-b*

® (a-b)(a®>+ab+b?) =a® - D>
®

(a+b)(a® —ab+b*) =a® +b?

R

(a+b)a-b)=0" +®@

Q' =022
(a+b)(a-b) =D+ =a>-b?
. (a+b)(a-b)=a®-b*
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(x +4y)(3x) - (x +y)(x )
= 3x% 4+ 12xy — x% + 2
= 2x% + 12xy +y?2




t}2 19 9] A2H AGHE, AH2H3 EFCD = E

A2k @el i, AD = a, AB = b A, 423

GBFH 9] §o]=? G H
B—

@ a? - 2ab - b? @ a® + 3b% - 2ab

@—a2 + 3ab — 2b> @ —a®+ 3ab - b?

® —a® + 2ab - b?

O0GBFH = oABCD - 0AGHE - oEFCD
=ab - (a - b)? = b*> = ab — (a® — 2ab + b?) - b?
= —a® + 3ab - 2b?




7. &+b*+c2=9 ab+bc+ca=9, a+b+co 3e?

® -3vV2 @ -2v3 ®)+3v3
@ +3v2 ® V6

B

(a+b+c)* =a*+b*>+c* +2(ab + bc + ca)
=94+ 18 =27

“a+b+c=+3V3




8. MAFabcoltHotoda+b+c=2,a°>+b%>+c?>=6, abc = -1
A ], a3 + b+ 9] F2?

@11 @ 12 ® 13 @ 14 ® 15

B ~

(a+b+c)?=a%+b?+ 3+ 2(ab + be + ca)
ab+bc+ca= -1

a+ b+ 8

= (a+b+c)(a®+b?+c?—ab - bc - ca) + 3abc
—2x(6-(-1))-3=11




9. a+btc=0, a?+b*+c? =198 W, 4(a®b? +b%*c® +?a?) 9] 727

1
® 2; O @ 2 ® 3

=~ =

B ~

(a+b+c)?=a*+b?+c?+2(ab + be + ca)

1
. ab+bc+ca:—§

4(a’*b* + b*c? + ?a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—4><(‘5> =1




10. a+b+c=0,a?+b>+c2 =1L W, a?b? + b%c? + 2a®> Y 727
1
oF @

(a+b+c)? =a?+b*+c+2(ab + be + ca) ©ll HYsHA

® 0 @ 1 ® 4

DN | =

1
ab+bc+ca=—§

(ab + be + ca)? = a®b? + b*c? + c2a® + 2abc(a + b + ¢)

= =

— = a’b? + b%c? + ?a® + 2abc(a + b + ¢)

1
wabA a2b2 + b2¢2 + 242 = Z




11.

A a,b,col st a+b+c=6,a? +b* + % =128 4S5

a®+b° + ¢ 2 e Fsha?

@ 8 @ 16 @24 @ 36 ® 42

B

FA @+ b+ = (a+b+c)?-2(ab+ bc + ca) ol FoIH
45 st

(ab + be + ca) &) F-2 F-SHH (ab + be + ca) = 12

a® + b3 + ¢ = 3abc = (a+ b+ ¢)(a* + b*> + ¢* — ab — bc — ca)
oA

a’>+b?>+c?—ab-bc-ca=00E=2

1

5 (@=b2+(b-c+(c-a)?} =0
ca=b=c=20°1B2 B +b+c=2




